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POLITICAL SCIENCE
( General )

Paper : 6.1

( Public Administration )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer/Choose the correct answer of the
following : 1x10=10

faffRermT et fr /g Ted A Shied

(@) In laissez-faire State, the functions of
governments were confined to which
activities?

IFER AFS FPEE FAIE (PR (TS
Fifte wfee 2
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| ) (3)
(b)) In which year the Public Service (g9 “The management of finance is one of
Commission was set up in India? the first and inescapable responsibility
of administrators.” This was said by
SATS ARG W R e o F1 White / Willoughby / Wilson.
2 7
“oppT AL S IR GTRAT TR T e
(c) Who is the author of the book, Essay in JEA OGRAA RN G¥ FARR (R
Sociology ? @RRG / Te’Ra / TREne |
Essay in Sociology ¥4 ¥4I E DRI
@2 (h) The word Budget was first used in
England / America / France.
(d) The' term ‘bux:e:lucracy’h hasd? been s W A AEA (2 Bes [
derived from which French word: | SRS | IS |
FqHl ©ER QWO M Rl SIS
L ETanE| ?
e (22 ? (i) Whether ‘accountability’ is an essential
prerequisite of good governance?
(e) “Budget is a financial plan of the
government for a definite period.” TRAES” 2P <GB Sfe ecareaE 5d
Whose definition is this? 2 ?
“quees (TR S TR PR BIPIE 4TS ¥
S STl 177 G ALRICH! FH ? () The Administrative Reforms

Who, in India, is the Head of the
Department of Audit and Accounts?

SRws o “Arm w2 T Rea 7R
@ 2

Commission was set up in 1966 under
the Chairmanship of Nehru / Desai /
Kamath.

1966 BIS S99 P LA ATSIE SR
Torifs wfEe @2F / CriR [ I8 |
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2. Answer the following questions : 2x5=10 3. Write short notes on any four from the
o TR g o - following : 5x4=20
fafeferT & @ piReR eo@e 53 B for

(a) Mention two objectives of training.
(a) Control by the people on administration

ey 61 o o ST 8IS SEPTIAECA e

(b) Mention two disadvantages of (b) Advantages of indirect recruitment

romotion by seniori rinciple.
. 4 v P P AT AT FRAPTHR

carper Sifeq fofes f siommfea o1 SR
Tead F41 1

) Habeas corpus

7% Tomom

() Write two arguments against spoils
(d) Lokpal in India
system.

TGS (AP
oy “[E JE Reies 01 1 |

(e) RTI Act and good governance

(d) Mention two  evils of Indian RTI i3 S -2

bureaucracy.

. 4. Answer an our questi
SRS SCHETE (B! WA SErd 41 | y four questions from the

following : 10x4=40
(e) Distinguish between single budget and oo f e B! e T fo
plural budget. (a) What is budget? Discuss the principles
of budgeting.
oizew Fefl TR ACHD WF T2 JACED | qEs B 7 ACED AN AET MSIYZ ST
40
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(b)

(c)

(@)

(e)

14A—20*/1374

(6)

Evaluate the promotion system followed

in India.

SRATS PR P AL &S JoRA 41 |

Discuss the importance of Civil Service

in modern State.

Y AFS IR ORI 8% F, s
41 |

Distinguish between :
ocen et 4
(i) Auditing and Accounting
fapret el = f2o1et =iqrl

(ii) Yearly Budget and Long-term
Budget

e ICEG S AL ACSO

Discuss the parliamentary control over
Public Administration.

@ PR eoqe  weme fRmeR [
A 4T |
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() Discuss the scope of Development

Administration.

et epiieE SR SICErD 341 |
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